."
NAME // g'\/ 7

DATE PERIOD

Chapter 9 Mid-Chapter Practice Test SCORE

(Lessons 9-1 through 9-5)

Part I Write the letter for the correct answer in the blank at the right of each question.

Y
1. Which equation corresponds to the graph shown? % ]
A},zﬁzfj/ Cy:x2+3 \ [ -
By=—(%— 3)2 Dy= —(x +3)? \\ I’ 1.
[=] X
2. Find the coordinates of the vertex of the graph of .,
y=—x% —4x - 6. Identify the vertex as a maximum e, e x s (2.5 )
or a minimum, e =& _ -04%) _ -3 e
2% 7 Sc-1) — Cc Aoy,
2 C o Al G x v v i i) f/rs/#-r:)( ('Z 2. a // Y, A u
(l Y= f(f‘z:ih/(z,)- 2)
+ Z#C ke 1
3.Solve x% + 8x+ 16 =169 by tal\mU the squarg root ofeach 51de : e
D )9 c{j_/;”’ ,zvr/z,g»_é - -A¥ + 36 L X= ?/,_/7
wiy e Bl @foz O btz =0V 2y, (b+€) Gy
4. Whi uation can be“used to solve ’bz +24b+ 56 =0 by completmﬂ the square?
~F(b+6) =8 G(b+6) =46 H(b+3)2=11 J((b+3)?=19 /:
4,
5. Which step is not performed in the process of solving 12 + 67+ 3 = 0 by completing Iy
the square?
@Add 3 from each side. C Add 9 to each side.
B Divide 6 by 2, then square D Take the square root of each side.
5
Part II e
w2 .
Solve each equation, If integr al roots cannot be found, estimate the roots by stating the
consecutive integers between which the roots lie. / /
F} (X 1) (\’( < ) L//?/ e "“(‘*7) o 5—/
c ‘ = S Mol
6.x2-Tx+10=0 (/N ) ms Tz T X2, 5
/& Xi; ’,_,,_.-_,--r?:_/ , 6.
IS A T —
> G o/ e
Pl 'f/wj ’7@)( —7x +3 = , 7 ) /,53/7
§~27412 /c 4@ -2 8110 25 ~35 o1 :
For Questions 8 and 9, round to the nearest tenth if necessary - "\ ){_ -2 %
/ J P
8. Solve x% + 6x = 40 by completing the square. <2 Vi s ,
— -3
Xl 1T 2477 (43 )7 4T G 5 . XY )C

9. Solve -2x2 + 8x = éby completing the square. - = e )
2 ﬁ .
. 2Bt — A (X ~Uxrl ) |+ g/x-j) 2 Ty, =35
10. The base of a rectangle is 3 less than the height. The area of the rectangle is 10 square /

inches. What are the dimensions of the rectangle? (Y

,)(»ﬁ =i o
/55/% 's( = :3_—/-// 10, 2XxJ
- k2 / _/

ﬁ(ﬁ ) (4 - 3)= y 51 B R Glencoe Algebra 1
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